VOC

3.Wahaha 4 Robust
U g/L ppb ppb
1 (11- 20 ppb 0.000 0.000 0.000 0.000 0.000
2 20 ppb 0.000 0.000 0.000 0.000 0.058
3 -1,2- 0.000 0.000 0.000 0.000 0.000
4 -1,2- 40 ppb 0.000 0.000 0.000 0.000 0.000
S 60 ppb 0.000 0.048 0.000 0.000 2.941
6 [1,1,1- (300 ppb ) 0.000 0.000 0.000 0.000 0.000
7 2 ppb 0.000 0.000 0.000 0.099 0.000
8 10 ppb 0.000 0.000 0.000 0.000 0.000
9 |1,2- (4 ppb ) 0.000 0.581 0.000 0.000 0.000
10 30 ppb 0.000 0.000 0.000 0.000 0.000
11 |1,2- 0.000 0.000 0.000 0.000 0.000
12 30 ppb 0.000 0.014 0.000 0.000 0.044
13| -13- 0.000 0.000 0.000 0.000 0.000
14 (200 ppb ) 0.000 0.000 0.030 0.000 0.000
15 -1,3- 0.000 0.000 0.000 0.000 0.000
16 |11.2- (6 ppb ) 0.000 0.000 0.000 0.000 0.000
17 10 ppb 0.000 0.000 0.000 0.000 0.000
18 100 ppb 0.000 0.145 0.000 0.000 0.170
19 |mp- 0.000 0.000 0.000 0.000 0.000
20 |o- 0.000 0.000 0.000 0.000 0.000
21 90 ppb 0.000 0.114 0.000 0.000 0.097
22 |114- 0.000 0.000 0.000 0.000 0.000
100 ppb 0.000 0.321 0.000 0.000 3.252
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